
SAP ABAP table MLVSV {Generated Table for View}

MLVSV

MANDT [CLNT (3)]

MATNR [CHAR (18)]

LGNUM [CHAR (3)]

WERKS [CHAR (4)]

MEINS [UNIT (3)]

BSTME [UNIT (3)]

GEWEI [UNIT (3)]

STOFF [CHAR (18)]

AUSME [UNIT (3)]

LGBKZ [CHAR (3)]

LTKZE [CHAR (3)]

LTKZA [CHAR (3)]

LETY1 [CHAR (3)]

LETY2 [CHAR (3)]

LETY3 [CHAR (3)]

LVSME [UNIT (3)]

BLOCK [CHAR (2)]

BSSKZ [CHAR (1)]

MMSTA [CHAR (2)]

BEZME [UNIT (3)]

PLKPT [CHAR (3)]

VOLEH [UNIT (3)]

EPRIO [CHAR (4)]

MTART [CHAR (4)]

BWTTY [CHAR (1)]

LHME1 [UNIT (3)]

LHME2 [UNIT (3)]

LHME3 [UNIT (3)]

MAGRV [CHAR (4)]

MSTAE [CHAR (2)]

MGEF

MANDT [CLNT (3)]

STOFF [CHAR (18)]

REGKZ [CHAR (3)]

 MLVSV-STOFF = MGEF-STOFF 
0..N

0..N

T000

MANDT [CLNT (3)]

 MLVSV-MANDT = T000-MANDT 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MLVSV-WERKS = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MLVSV-AUSME = T006-MSEHI 

0..N{0,1}

 MLVSV-BEZME = T006-MSEHI 

0..N
0..N

 MLVSV-BSTME = T006-MSEHI 

0..N{0,1}  MLVSV-GEWEI = T006-MSEHI 

0..N

{0,1}
 MLVSV-LHME1 = T006-MSEHI 

0..N

{0,1}

 MLVSV-LHME2 = T006-MSEHI 0..N

{0,1}
 MLVSV-LHME3 = T006-MSEHI 

0..N

{0,1}

 MLVSV-LVSME = T006-MSEHI 

0..N

{0,1}

 MLVSV-MEINS = T006-MSEHI 

0..N

1
 MLVSV-VOLEH = T006-MSEHI 

0..N

{0,1}

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 MLVSV-MTART = T134-MTART 

0..N

1

T141

MANDT [CLNT (3)]

MMSTA [CHAR (2)]

 MLVSV-MMSTA = T141-MMSTA 

0..N

{0,1}
 MLVSV-MSTAE = T141-MMSTA 

0..N

0..N

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 MLVSV-BWTTY = T149C-BWTTY 

0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 MLVSV-LGNUM = T300-LGNUM 0..N
1

T301

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

 MLVSV-PLKPT = T301-LGTYP 

0..N

0..N

T304

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGBKZ [CHAR (3)]

 MLVSV-LGBKZ = T304-LGBKZ 

0..N

{0,1}

T305

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTKZ [CHAR (3)]

 MLVSV-LTKZA = T305-LGTKZ 

0..N

{0,1}

 MLVSV-LTKZE = T305-LGTKZ 

0..N

{0,1}

T306

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

BSSKZ [CHAR (1)]

 MLVSV-BSSKZ = T306-BSSKZ 

0..N

{0,1}

T307

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LETYP [CHAR (3)]

 MLVSV-LETY1 = T307-LETYP 

0..N

{0,1}

 MLVSV-LETY2 = T307-LETYP 

0..N

{0,1}

 MLVSV-LETY3 = T307-LETYP 

0..N

{0,1}

T338

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

BLOCK [CHAR (2)]

 MLVSV-BLOCK = T338-BLOCK 

0..N

{0,1}

T434G

MANDT [CLNT (3)]

WERKS [CHAR (4)]

EPRIO [CHAR (4)]

 MLVSV-EPRIO = T434G-EPRIO 

0..N

0..N

TVEGR

MANDT [CLNT (3)]

MAGRV [CHAR (4)]

 MLVSV-MAGRV = TVEGR-MAGRV 

0..N

0..N


